
MATH:7450	
  (22M:305)	
  Topics	
  in	
  Topology:	
  Scien:fic	
  
and	
  Engineering	
  Applica:ons	
  of	
  Algebraic	
  Topology	
  

	
  

Sept	
  6,	
  2013:	
  	
  Calcula:ng	
  homology	
  using	
  matrices	
  
	
  

Fall	
  2013	
  course	
  offered	
  through	
  the	
  	
  
University	
  of	
  Iowa	
  Division	
  of	
  Con:nuing	
  Educa:on	
  

	
  
Isabel	
  K.	
  Darcy,	
  Department	
  of	
  Mathema:cs	
  

Applied	
  Mathema:cal	
  and	
  Computa:onal	
  Sciences,	
  
University	
  of	
  Iowa	
  

	
  
hSp://www.math.uiowa.edu/~idarcy/AppliedTopology.html	
  



hSp://www.ima.umn.edu/2008-­‐2009/ND6.15-­‐26.09	
  

hSp://www.ima.umn.edu/2008-­‐2009/ND6.15-­‐26.09/abstracts.html#8322	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

H0	
  =	
  Z0/B0	
  =	
  <v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6	
  :	
  v1	
  +	
  v2	
  =	
  0,	
  v2	
  +	
  v3	
  =	
  0,	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  v4	
  +	
  v5	
  =	
  0,	
  v5	
  +	
  v6	
  =	
  0,	
  v4	
  +	
  v6	
  =	
  0>	
  
	
  

H0	
  =	
  Z0/B0	
  =	
  <[v1],	
  	
  [v4]>	
  where	
  [v1]	
  	
  =	
  	
  {v1,	
  v2,	
  v3}	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  and	
  [v4]	
  	
  =	
  	
  {v4,	
  v5,	
  v6}	
  	
  



Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

Z0/B0	
  =	
  <v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6	
  :	
  v1	
  +	
  v2	
  =	
  0,	
  v2	
  +	
  v3	
  =	
  0,	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  v4	
  +	
  v5	
  =	
  0,	
  v5	
  +	
  v6	
  =	
  0,	
  v4	
  +	
  v6	
  =	
  0>	
  
	
  

Use	
  matrices:	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

See	
  Compu:ng	
  Persistent	
  Homology	
  by	
  Afra	
  Zomorodian,	
  Gunnar	
  Carlsson	
  

	
  
	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

:	
  C1	
  	
  	
  à	
  	
  	
  C0	
  o	
  
o	
  (e1)	
  =	
  v1	
  +	
  v2	
  
o	
  (e2)	
  =	
  v2	
  +	
  v3	
  

o	
  (e3)	
  =	
  v4	
  +	
  v5	
  

o	
  (e4)	
  =	
  v5	
  +	
  v6	
  
o	
  (e5)	
  =	
  v4	
  +	
  v6	
  

Extend	
  linearly:	
  

(Σniei)	
  	
  =	
  	
  ni	
  Σ	
  	
  	
  (ei)	
  o	
  o	
  



Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

Z0/B0	
  =	
  <v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6	
  :	
  v1	
  +	
  v2	
  =	
  0,	
  v2	
  +	
  v3	
  =	
  0,	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  v4	
  +	
  v5	
  =	
  0,	
  v5	
  +	
  v6	
  =	
  0,	
  v4	
  +	
  v6	
  =	
  0>	
  
	
  

Use	
  matrices:	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
See	
  Compu:ng	
  Persistent	
  Homology	
  by	
  Afra	
  Zomorodian,	
  Gunnar	
  Carlsson	
  

	
  
	
  



Let	
  e1	
  =	
  {v1,	
  v2}	
  =	
  	
  

Let	
  e5	
  =	
  	
  	
  
	
  	
  {v4,	
  v6}	
  =	
  	
  

Let	
  e4	
  =	
  	
  	
  
	
  	
  {v5,	
  v6}	
  =	
  	
  

Let	
  e3	
  =	
  	
  	
  
	
  	
  {v4,	
  v5}	
  =	
  	
  

Let	
  e2	
  =	
  	
  {v2,	
  v3}	
  =	
  	
  



v1	
  =	
  	
   ,	
  v2	
  =	
  	
   ,	
  v3	
  =	
  	
   ,	
  v4	
  =	
  	
   ,	
  v5	
  =	
  	
  

v6	
  =	
  	
  





o	
  (e1)	
  	
  =	
  	
  v1	
  +	
  v2	
  
v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



o	
  (e2)	
  	
  =	
  	
  v2	
  +	
  v3	
  
v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



o	
  (e3)	
  	
  =	
  	
  v4	
  +	
  v5	
  
v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



o	
  (e4)	
  	
  =	
  	
  v5	
  +	
  v6	
  
v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



o	
  (e5)	
  	
  =	
  	
  v4	
  +	
  v6	
  
v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

:	
  C1	
  	
  	
  à	
  	
  	
  C0	
  o	
  
o	
  (e1)	
  =	
  v1	
  +	
  v2	
  
o	
  (e2)	
  =	
  v2	
  +	
  v3	
  

o	
  (e3)	
  =	
  v4	
  +	
  v5	
  

o	
  (e4)	
  =	
  v5	
  +	
  v6	
  
o	
  (e5)	
  =	
  v4	
  +	
  v6	
  

Extend	
  linearly:	
  

(Σniei)	
  	
  =	
  	
  ni	
  Σ	
  	
  	
  (ei)	
  o	
  o	
  





=	
  



B0	
  =	
  Image	
  of	
  	
  	
  	
  	
  	
  =	
  	
  column	
  space	
  of	
  o1	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

H0	
  =	
  Z0/B0	
  =	
  <v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6	
  :	
  v1	
  +	
  v2	
  =	
  0,	
  v2	
  +	
  v3	
  =	
  0,	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  v4	
  +	
  v5	
  =	
  0,	
  v5	
  +	
  v6	
  =	
  0,	
  v4	
  +	
  v6	
  =	
  0>	
  
	
  

H0	
  =	
  Z0/B0	
  =	
  <[v1],	
  	
  [v4]>	
  where	
  [v1]	
  	
  =	
  	
  {v1,	
  v2,	
  v3}	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  and	
  [v4]	
  	
  =	
  	
  {v4,	
  v5,	
  v6}	
  	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  
Using	
  

arbitrary	
  
coefficients	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  
Using	
  

arbitrary	
  
coefficients	
  



Row	
  opera:ons	
  

v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  



Row	
  opera:ons	
  

v6	
  v4	
  

v5	
  
e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



Row	
  opera:ons	
  using	
  arbitrary	
  coefficients	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

H0	
  =	
  Z0/B0	
  =	
  <v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6	
  :	
  v1	
  +	
  v2	
  =	
  0,	
  v2	
  +	
  v3	
  =	
  0,	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  v4	
  +	
  v5	
  =	
  0,	
  v5	
  +	
  v6	
  =	
  0,	
  v4	
  +	
  v6	
  =	
  0>	
  
	
  

H0	
  =	
  Z0/B0	
  =	
  <[v1],	
  	
  [v4]>	
  where	
  [v1]	
  	
  =	
  	
  {v1,	
  v2,	
  v3}	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  and	
  [v4]	
  	
  =	
  	
  {v4,	
  v5,	
  v6}	
  	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

C1	
  	
  	
  à	
  	
  	
  C0	
  	
  	
  à	
  	
  0	
  
	
  
Z0	
  =	
  	
  kernel	
  of	
  
	
  	
  
	
  	
  	
  	
  	
  	
  =	
  	
  {x	
  :	
  	
  	
  	
  	
  	
  (x)	
  =	
  0}	
  
	
  

	
  	
  	
  	
  =	
  	
  C0	
  =	
  Z2[v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6]	
  	
  	
  

o1	
  	
   o0	
  	
  

o0	
  	
  

o0	
  	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

C1	
  	
  	
  à	
  	
  	
  C0	
  	
  	
  à	
  	
  0	
  
	
  
Z0	
  =	
  	
  kernel	
  of	
  	
  	
  	
  	
  	
  	
  =	
  	
  null	
  space	
  of	
  M0	
  =	
  
	
  	
  
	
  	
  	
  	
  	
  	
  =	
  	
  {x	
  :	
  	
  	
  	
  	
  	
  (x)	
  =	
  0}	
  
	
  

	
  	
  	
  	
  =	
  	
  C0	
  =	
  Z2[v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6]	
  	
  	
  

o1	
  	
   o0	
  	
  

o0	
  	
  

o0	
  	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

C1	
  	
  	
  à	
  	
  	
  C0	
  	
  	
  à	
  	
  0	
  
	
  
Z0	
  =	
  	
  kernel	
  of	
  	
  	
  	
  	
  	
  	
  =	
  	
  null	
  space	
  of	
  M0	
  =	
  [0	
  0	
  0	
  0	
  0	
  0]	
  
	
  	
  
	
  	
  	
  	
  	
  	
  =	
  	
  {x	
  :	
  	
  	
  	
  	
  	
  (x)	
  =	
  0}	
  
	
  

	
  	
  	
  	
  =	
  	
  C0	
  =	
  Z2[v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6]	
  	
  	
  

o1	
  	
   o0	
  	
  

o0	
  	
  

o0	
  	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

H0	
  =	
  Z0/B0	
  =	
  <v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6	
  :	
  v1	
  +	
  v2	
  =	
  0,	
  v2	
  +	
  v3	
  =	
  0,	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  v4	
  +	
  v5	
  =	
  0,	
  v5	
  +	
  v6	
  =	
  0,	
  v4	
  +	
  v6	
  =	
  0>	
  
	
  

H0	
  =	
  Z0/B0	
  =	
  <[v1],	
  	
  [v4]>	
  where	
  [v1]	
  	
  =	
  	
  {v1,	
  v2,	
  v3}	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  and	
  [v4]	
  	
  =	
  	
  {v4,	
  v5,	
  v6}	
  	
  



H0	
  =	
  Z0/B0	
  =	
  (kernel	
  of	
  	
  	
  	
  	
  	
  )/	
  (image	
  of	
  	
  	
  	
  	
  	
  )	
  
	
  
	
   	
   	
   	
  	
  	
  	
  	
  	
  null	
  space	
  of	
  M0	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
   	
   	
   	
  	
  	
  	
  column	
  space	
  of	
  M1	
  
	
  

Rank	
  H0	
  =	
  Rank	
  Z0	
  –	
  Rank	
  B0	
  	
  
	
  

Z0	
  	
  =	
  	
  null	
  space	
  of	
  [0	
  0	
  0	
  0	
  0	
  0]	
  
	
  

B0	
  	
  =	
  	
  column	
  space	
  of	
  	
  
	
  
	
  

o0	
  	
   o1	
  	
  

=	
  

C1	
  	
  	
  à	
  	
  	
  C0	
  	
  	
  à	
  	
  0	
  
o1	
  	
   o0	
  	
  



v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  

Coun:ng	
  number	
  of	
  connected	
  components	
  using	
  homology	
  

H0	
  =	
  Z0/B0	
  =	
  <v1,	
  v2,	
  v3,	
  v4,	
  v5,	
  v6	
  :	
  v1	
  +	
  v2	
  =	
  0,	
  v2	
  +	
  v3	
  =	
  0,	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  v4	
  +	
  v5	
  =	
  0,	
  v5	
  +	
  v6	
  =	
  0,	
  v4	
  +	
  v6	
  =	
  0>	
  
	
  

H0	
  =	
  Z0/B0	
  =	
  <[v1],	
  	
  [v4]>	
  where	
  [v1]	
  	
  =	
  	
  {v1,	
  v2,	
  v3}	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  and	
  [v4]	
  	
  =	
  	
  {v4,	
  v5,	
  v6}	
  	
  



Cn+1	
  	
  	
  à	
  	
  	
  Cn	
  	
  	
  à	
  	
  	
  Cn-­‐1	
  	
  	
  à.	
  .	
  .	
  à	
  	
  	
  C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  	
  à	
  	
  	
  0	
  
on+1	
  	
   on	
  	
   o1	
  	
   o0	
  	
  o2	
  	
  

Hn	
  =	
  Zn/Bn	
  =	
  (kernel	
  of	
  	
  	
  	
  	
  	
  )/	
  (image	
  of	
  	
  	
  	
  	
  	
  	
  	
  	
  )	
  
	
  
	
   	
   	
   	
  	
  	
  	
  	
  	
  null	
  space	
  of	
  Mn	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
   	
   	
   	
  	
  	
  	
  column	
  space	
  of	
  Mn+1	
  
	
  

Rank	
  Hn	
  =	
  Rank	
  Zn	
  –	
  Rank	
  Bn	
  	
  
	
  
	
  

on	
  	
   on+1	
  	
  	
  

=	
  



C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  

H1	
  =	
  Z1/B1	
  =	
  (kernel	
  of	
  	
  	
  	
  	
  	
  )/	
  (image	
  of	
  	
  	
  	
  	
  	
  	
  	
  	
  )	
  
	
  
	
   	
   	
   	
  	
  	
  	
  	
  	
  null	
  space	
  of	
  M1	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
   	
   	
   	
  	
  	
  	
  column	
  space	
  of	
  M2	
  
	
  

Rank	
  H1	
  =	
  Rank	
  Z1	
  –	
  Rank	
  B1	
  	
  
	
  
	
  

o1	
  	
   o2	
  	
  	
  

=	
  



Z1	
  	
  =	
  	
  kernel	
  of	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  	
  null	
  space	
  of	
  M1	
  	
  	
  	
  	
  	
  	
  	
  	
  o1	
  	
  

C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  



Z1	
  	
  =	
  	
  kernel	
  of	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  	
  null	
  space	
  of	
  M1	
  	
  	
  	
  	
  	
  	
  	
  	
  o1	
  	
  

C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  



Z1	
  	
  =	
  	
  kernel	
  of	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  	
  null	
  space	
  of	
  M1	
  	
  	
  	
  	
  	
  	
  	
  	
  o1	
  	
  

C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  



Z1	
  	
  =	
  	
  kernel	
  of	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  	
  null	
  space	
  of	
  M1	
  
	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  =	
  <e3	
  +	
  e4	
  +	
  e5>	
  	
  	
  	
  	
  	
  	
  	
  	
  

o1	
  	
  

C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  



C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  

B1	
  	
  =	
  	
  image	
  of	
  	
  	
  	
  	
  	
  	
  =	
  	
  column	
  space	
  of	
  M2	
  
	
  

o2	
  	
  

v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  



C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  

B1	
  	
  =	
  	
  image	
  of	
  	
  	
  	
  	
  	
  	
  =	
  	
  column	
  space	
  of	
  M2	
  
	
  
	
  	
  	
  	
  	
  	
  =	
  <{v4,	
  v5}	
  +	
  {v5,	
  v6}	
  +	
  {v4,	
  v6}>	
  =	
  <e3	
  +	
  e4	
  +	
  e5>	
  	
  
	
  

o2	
  	
  

v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  



C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  

H1	
  =	
  Z1/B1	
  =	
  (kernel	
  of	
  	
  	
  	
  	
  	
  )/	
  (image	
  of	
  	
  	
  	
  	
  	
  	
  	
  	
  )	
  
	
  
	
   	
   	
   	
  	
  	
  	
  	
  	
  null	
  space	
  of	
  M1	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
   	
   	
   	
  	
  	
  	
  column	
  space	
  of	
  M2	
  
	
  

	
   	
   	
   	
   	
  	
  	
  	
  <e3	
  +	
  e4	
  +	
  e5>	
  	
  
	
   	
   	
   	
   	
  	
  	
  	
  <e3	
  +	
  e4	
  +	
  e5>	
  	
  

	
  

Rank	
  H1	
  =	
  Rank	
  Z1	
  –	
  Rank	
  B1	
  	
  =	
  1	
  –	
  1	
  =	
  0	
  	
  
	
  
	
  

o1	
  	
   o2	
  	
  	
  

=	
  

=	
  

v6	
  v4	
  

v5	
  
e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  

B1	
  	
  =	
  	
  image	
  of	
  	
  	
  	
  	
  	
  	
  =	
  	
  column	
  space	
  of	
  M2	
  
	
  
	
  	
  	
  	
  	
  	
  =	
  <{v4,	
  v5}	
  +	
  {v5,	
  v6}	
  +	
  {v4,	
  v6}>	
  =	
  <e3	
  +	
  e4	
  +	
  e5>	
  	
  
	
  

o2	
  	
  

v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  



C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  

B1	
  	
  =	
  	
  image	
  of	
  	
  	
  	
  	
  	
  	
  =	
  	
  column	
  space	
  of	
  M2	
  
	
  
	
  	
  	
  	
  	
  	
  =	
  <{v4,	
  v5}	
  +	
  {v5,	
  v6}	
  +	
  {v4,	
  v6}>	
  =	
  <e3	
  +	
  e4	
  +	
  e5>	
  	
  
	
  

o2	
  	
  

v6	
  v4	
  

v5	
  

e3	
  

e5	
  

e4	
  

v1	
  

v2	
  

v3	
  

e1	
   e2	
  



C2	
  	
  	
  à	
  	
  	
  C1	
  	
  	
  à	
  	
  	
  C0	
  	
  
o1	
  	
  o2	
  	
  

H1	
  =	
  Z1/B1	
  =	
  (kernel	
  of	
  	
  	
  	
  	
  	
  )/	
  (image	
  of	
  	
  	
  	
  	
  	
  	
  	
  	
  )	
  
	
  
	
   	
   	
   	
  	
  	
  	
  	
  	
  null	
  space	
  of	
  M1	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
   	
   	
   	
  	
  	
  	
  column	
  space	
  of	
  M2	
  
	
  

	
   	
   	
   	
   	
  	
  	
  	
  <e3	
  +	
  e4	
  +	
  e5>	
  	
  
	
   	
   	
   	
   	
  	
  	
  	
  <e3	
  +	
  e4	
  +	
  e5>	
  	
  

	
  

Rank	
  H1	
  =	
  Rank	
  Z1	
  –	
  Rank	
  B1	
  	
  =	
  1	
  –	
  1	
  =	
  0	
  	
  
	
  
	
  

o1	
  	
   o2	
  	
  	
  

=	
  

=	
  

v6	
  v4	
  

v5	
  
e3	
  

e5	
  

e4	
  
v1	
  

v2	
  

v3	
  

e1	
   e2	
  



hSp://www.ima.umn.edu/2008-­‐2009/ND6.15-­‐26.09	
  

hSp://www.ima.umn.edu/2008-­‐2009/ND6.15-­‐26.09/abstracts.html#8322	
  


